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Q1. (A) Multiple Choice Question (1 x 4 = 4 Marks)
(i) Somebody threw a shoe at him he was speaking.
a) After b) When c) While d) During
@) . 1 g0 to the New Year’s party if | feel well by evening.
a) Can b) Must c) Had d) Would
(iii) He ever works as as he should
a) Hard—Hardly c) Hardly—Hard
b) Hard—Hard d) Hardly—Hardly
(iv) We went to the market some vegetables.
a) Forbuy b)fortobuy c)toBuy d) for buying
(B) Give Antonyms of the following (1 x 3 =3 marks)
a) Crooked b) Accept c) Asleep
(C) Give Synonyms of the following {1 x 3 =3 marks)
a) Huge b) Trust c) Tired
Q2. Solve the following (2 x5 = 10 marks)

1) In a mixture of 60 litre, the ratio of milk and water is 2:1 respectively. If the ratio is to be
made 1:2, then the quantity of water to be added is
60 °leT & oo 7 gy IR Ul & 3T FAn: 2181 A AU 12 K & A
gy it AT R gl
a) 20litres (20 o1€I) b) 40 litres (40 FeT) c) 60 Litres (60 ANeT) d) 80 Litres (80 wirex)
2) If the first 10 overs of a cricket game, the run rate was only 3.2. What should be run rate
in the remaining 40 overs to reach the target of 272 runs?
afy e B F Tgo 103 F W € Fad 3247 272G & T IF A &
fore 9y 40 3T # @ T AT g Tfgee

a) 4 b) 5 ¢) 6 d 7
3) One man completes 5/8 part of a job in 10 days. At this rate, how many more days will it

take him to finish the job?
U gfFa fRdT FTa & 5/8 HI9T 10 e A QU O AT B 39 &I /,3 FH U &
# 3R fraer faer o

a) 5 b) 6 ¢c) 7 d) 8
4) How much time will it take for an amount of rupees 500 to yield rupees 100 at a interest

of 5% per annum of simple interest?
500 T FT TR W 5% a1 ATUROT AT T &7 [ 100 A e FA A Fovetalr
AY Eem?
a) 3.5years/a¥ b) 4years/a¥ c) 4.5years/a¥d) S years/a¥
5) Whatis the prdbability of getting a sum of 9 from 2 throws of a die?
Th 9 $ & §R el 9T AT 9 A fr WiRAFAT = 82
a) 1/2 b) 1/3 c) 1/9 d) 1/6
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@ # 3w & Answer the following (1 x 10 = 10 marks)

13 frar $r T FAT §2 What is the capital of Australia?

2) ST $r e F4T 82 What s the currency of Japan?

3) fAea &1 §EY T3 FAURN FIFA AT 2 Which is the largest mammal in the world?
4) greTar F fguia BFas REM@Aa B Who developed the theory of relativity?
5) @ &1 Tarafas Reg a4 &2 What is the chemical symbol of gold?

6) AT auaA FE AgIedT F Ry &

In which continent is the Amazon rainforest located?
7) & ufex & Aws &l €2 Who is the author of Harry Potter?

8) 5w T F 'uiw AfeE Fr HF F w7 F ST Fwar B2
Which state is known as ‘the land of five rivers’?
9) e TR R fFa o & YA &2
In which state is the Corbett Tiger Reserve situated?
10) RFE ReT & FRTQT Awgy Raw & §1 & Harar 3w g2
Which day is celebrated as International Labor Day?
farafaf@a # 3T & Answer the Following (1 x 10 = 10 marks)

1) $RT & TIA WU HlT &7 Who is the current vice president of India?
2) 2023 & AT A Wt H AT A fohaer e S
How many medals did India win the Asian games held in 20237
3) 2023 # G20 R TS T AN fFa g o Hr
Which country hosted the G20 summit in 2023?
4) FE au o BT e T F AfATH FEROT SHar?
Which country won the latest iteration of FIFA World Cup?
5) 2023 #F fFE e & 3l WEPR Slidr
Which cricketer won the Arjuna award in 2023?
6) | FT qOT FT FAT §? What is the full form of SAARC?
7) GF & eI F F AT 380 @ dieq v aw aRer o= # a qqse
Name the spacecraft launched by ISRO to study the SUN?
8) SNUTer YAQ T FT AT AIH FAT §? What is the new name of Bhopal railway Station?
9) gfT & Fa¥ FI Y@ G F AH FATE? Name the tallest railway bridge in the world?
10) TR WG FT HRA FT Tl AR FgT ST 87
Which city is known as the Pink City of India?



. ¥T31-2 PART - Il 3)
Q5  fFa wumt # qfd Y Fill in the Blanks (1 x 10 = 10 marks)
1)gehig ware A FHE R Unit of magnetic flux is
z)mmﬁammmmﬁamm ¥F w9 & ST ST 21 Ratio of active power

to apparent power is known as

3) RRETE & Aot @aH

works on the principle of conservation of

& @O & Rguid W FW FI@ ¢ Kirchoff's voltage law

4) DC T HT FFYLX ¥ w7 & #1F Far &1 The commutator of a DC generator acts
asa

5) &UHWE EAT 13 & GAHTU FHAGe % The binary equivalent of decimal number
13is
6)1 MH 1 AT Ul ¥ JUeT &1 1 0hmis equal to 1 Volt per

o 7) v H-aafed ol & T IaHeT FRE §HE N ool A gl
For-an overdamped system the damping factor is than unity

8) ot ¥ & Wl AEAT & 3ieX faegd & | The electric field inside a perfectly
conducting media is

9) ﬁﬁaaﬁw#mm*ﬁvmﬁmﬂwmm is a

measure of the ability of a capacitor to store an electric charge.

1W0)Fey dramar 7 cgad & A ¢ The capacity of a battery is expressed in
Q6 Muiltiple Choice Question (1 % 10 = 10 marks)
1) U ZEGER § I Ao RfagAd 9T g FEaT §
,,’@ A transformer can have zero voltage regulation at
a) oNf39r grax %eFeX Leading Power Factor ¢) gf¥ér qray W Unity Power
Factor
b) SIRY arax %aex Zero Power Factor d) «f3ier greR %R Lagging Power
Factor

2) 3 A F Iy T F 39AWT HAT ST & FifeR Starters are used with DC Motors
because
a) & A A 3TA YEHTAr ¢F Fe ¢ These motors have high starting torque

b) ¥ FeY FF e AL BN & These motors are not self starting

¢) IR 4R A wfAE®T F= F AT To restrict armature current
d) S ¥ &% §.0A.U% agar T Qe § Back e.m f is very high initially

3) & H@en IR wfFe &1 wHg R § The ‘time constant’ of a series RC circuit is



Q7

4)

5)

6)

7)

8)

9)

a) C/R b) R/C ¢) 1/RC d) RC Z GI?

U IEAMAG Searaet URT & AR 3% g sk A T ST R In the case of an
unsymmetrical alternating current the average value must always be taken over
a) 34T T The half cycle  (b) RAATY T The quarter cycle

¢) T = The whole cycle  (d)yas &1 3r@@TAE ST Unsymmetrical part of the cycle

farfaf@a & ¥ #lF a1 o= afka geF &2 Which of the following is a Active component?
a) R Resistors ¢) SIS Transistors

b) FFATAST Capacitors d) 3% Inductor

T 48 3 FAUF 110V AT & TR F 3 g & W F Grh 7wy o ¥

Three 48 ohm resistor are connected in parallel across a 110 V source. The current drawn
from the source is approximately
a) 23A b) 0.76 A c) 6.87A d) 47 mA

L=20 mH, C=0.02 uF 3N R=90 31 & 1Y TF A@an RICATFE B e IR |

gfaamer & The impedance at the resonant frequency of a series RLC circuit with L= 20 mH, C
=0.02 uF andR=90 ohm is

a)0 ohm/0 HIHA b)20 ohm/20 ITH ¢)90 0hm/90 3Hd) Cannot be calculated ToTAT & & 3T Tt

I oat SIS FT aT9AT SedT & ar e FE If the temperature of a PN
unction diode increases, then the leakage current

a) dgT Wal & Remains the same ¢) ¥edr ¢ Increases

b) U FATET & Decreases d) YT 8 SATaT § Becomes zero
680-311 A5 AfAY 1.2 ¥ & TR OrT B & 37 g3 ¥, e Wt TG 12k 3
[ ﬁa?ga @15 9RT & A 680-ohm load resistance is connected across a constant current

source of 1.2 A the internal source resistance is 12k ohm the load current is
a) OA b) 1.2A ¢ 114mA d) 1.14A

10) Y AT Y33 AR HT SR W HURA gar §

1)

2)
3)

The size of the earth or ground wire is based on the
a) U133 aRR & AT A HFaH Blee TS & AT
Maximum fault current carrying through the ground wire
b) |fEw ds Y W3 YT gg &HHaT
Rated current carrying capacity of the service line

) A fr gfiRus er\ar . AR Depend on soil resistance
d) &= (v) 3R (I Both (a) and (c)

farafaf@a @1 3eav & Answer of the Following (2 x 10 = 20 marks)

U fARE 3uor 350W F ITENT FT ¥, AR 3N 24 R a@ AR Toe R o,
& TE o frelare-ae 3o A @ud axar 22A certain appliance uses 350W, if it is

allowed to run continuously for 24 days, how many kilowatt-hours of energy does it
consume?

3 & A F aReT FT Define Ohm’s Law

TS SOECH AR AT IR 1440w, 240V ¥ | et dea i G 7 gy 3R SRR A
@1 An Electric iron is rated 1440W, 240V. Find the current drawn & resistance of the
heating element.
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a)
5)

6)
7)

8)
9)

10)%3&17‘33&?40311#*9‘%1\“3??11?

principle of operation of a transformer.

AT & waTereT 1 RauTd qad| State the
St Bl AT 3R DY FaT3 AT F ke aad|

Draw the circuit of DC series motor and DC Compound motor.

B/T 1-v RrAand @aTe 3 et Fr =TT Ft DrawBIT IV Characteristics and |
Arefaf@a & aegar el AT Write the truth table of the following
a) AND Gate/ AND AT b) NOR Gate/ NOR AT

IeeTeT & IR wfafFar & @4 acad ¥ What is meant by armature reaction i

Fzarere AT B feera 3 gReRa F¥ Define Slip of Induction Motor
aﬂ’faﬂﬁaﬁmﬁ%mmmm ot

abel the regions

n Alternators

¥ 2t fgfa A | FAGET Ty 4
ur wires of equal length and resistance of 40 ohm are
across two opposite corner of square is?

Fo connected to form a square. The
equivalent resistance

Q8 & qu1 a% el  FT IW AT Answer any two From Q8 to Q11

Q8 A) pIT ¥ fATor 3R FRVUT T FAATT (6 3i%)

B)

Q9

Qio0

Qi1

Explain the construction and working of BIT (6 M-arks)
TF THEHAT BT ETATH FHOT Tred FI (4 37F)

Derive EMF Equation of a Transformer (4 Marks)

mmmwaﬂqﬂuﬁzmaﬁéaﬁﬁmﬁﬁaﬁzm*mm
mmﬁrtwﬁﬁmaﬁﬁﬁmmwﬁ (10 3%)

Explain the Open circuit and Short circuit tests on a single phase transformer with circuit

diagrams and derive all the parameters of approximate equivalent circuit of transformer
(10 Marks)

U)so-wmﬁmmmmwm-mmmﬂmmﬁ

oTAT FA (mmgﬂmso-wmm@rmrﬁﬁmﬁl @@ TB-
Qe 50-T% SROT AleX 9 VX I 960 IRIATH 1 gfera e H aoEr FX (@) I
ReerT T 0.05% A 60-T, 14-9 FeX Fr A Fr AT H (10 3%F)

a) Calculate the synchronous speed of an eight—pole induction motor when supplied with

power from a (60-gyclesource.(b) Calculate the synchronous speed of &Q0—cycle
induction motors having four poles.(c) The rotor speed of a six—pole 50—cycle induction
motor is960 rpm. Calculate the percent slip.(d) Calculate the speed of a 60—cycle,14—pole

motor if theslip s is 0.05. (10 marks)

0.2 3 ¥ 3mfaY Gfde gAYy 3R 60 3 & dies Tike gfady aer 120v IRA €
Ay, gt A5 G 40A T U oge URT Werar | ¥ deesid 3 v AR WS §, f &1
Iy 1800 HRATH & 01T

A 1?0 V dc shunt motor having an armature circuitresistance of 0.2 ohm and a field circuit
resistance of 60ohms, draws a line current of 40 A at full load. The brush voltdrop is 3 V and
rated, full load speed is 1800 rpm. Calculate:

(a) 3 &z @R AA| The speed at half load.
(b) 125 ufaerd & #HR 9T 31fA| The speed at an overload of 125 percent. (10 marks)
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